'Due date forthis sssignment; 2022-06-01, 23:69 IST.

T)Letf:R - Rondg: R - K betwo functions, defined as f(z)
correct option(s) from the fllowing

2%~ 82 + Tand g(z) = ~2/(x) respectvely. Choose the 2polnts

[ ghastwo tuming i
0 fhasty y~ coordinate.

) fhestwo d y—coordinate of only positive.

[) g has two turning points and y—coordinate of only one turning point is negative.

2 (4, ~3) and (~1,2) and (5,6). 2points.
O o (@ +1) (2 - 2) (2 +3) (z +4) (z - 5)? (= - 6)°

O ol @+1)? @-2)(z+3) (@ +4)(5-2) (- 6)

O i@+ @-2)(@+3) (@ +4)’ (5 -2)(z-6)(3-2)

O mm@+1)? (@-2)(z+3) (@ +4) (-5 @@ -6} (z+7)

3) Choose the set of correct options. 3 points.
() There are Infinitely many polynomial p(z) of degree three such that p(4) = 0, p(5) = 0, p(6) = 0 and p(0) = 1

o g P(4) = 0.p(5) = 0,p(6) = 0and p(0) = 1

[ The number of turning points of f(z) = (z — 5)"Is &,

O 1 (x - 1) Is afactor of 22° + 2* + Tz + k then the value of k is —10.

[) Thefunction g(x) = — (z — 2) (z + 2) (z + 3) (z + 10) Is positive In restricted domain (0o, 3).

4) Consider a polynomlal function p(x) = — (a* — 16) (z — 3)* (2 — 2)* (& + ). Choose the set of correct options. 2points.

O plx) s strictly increasing when z € (o0, ~9)
() Total number of tuing points of p(z) are 7.
() Total number of tuming points of p(z) are 6.

O plx) s strictly decreasing when z € (4, oc)

< (r+5) (2 ) (&~ 4) 2poits

(z-2)(2+2).
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7) An ont nomed B, home of ant) Bmak
food. 2 intercept 1) = (& - 30) (= - 18" - 1)
Then the sum
ofthe x-coordinatesof i th food lcations s
Tpoit
) andry
ifthey nteract. The shape £(x) = (x = 8) (z ~ ) and g(x) ~ ~ (&~ 8) (z ~ 6)
respectively. " 1(x) ndgz)
3 points
9 9+ 11z — 22 0nd sum of the roots ., F
3 points
10) Let /() and g(z) be two functions defned from X to R such that
261 iz € (~00,—4)
241 Hre (-4,0)U(0,2)U(2,00)
JERM ety :
1 ifre (-4,2)
() =2l -1
Find the value of f(1)g(—4) + ;{3 + /(3) - g(-~30).
Tpoit



